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<p>JF&: </p>
<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>
<!-- BEIRPCIEFAER-Fx -->
<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"></in
>
<script>
(adsbygoogle = window.adsbygoogle || [1).push({});
</script>
<blockquote>
<p>Implement an algorithm to determine if a string has all unique characters.What if you ca
not use additional data structures?</p>
</blockquote>
<blockquote>
<p>TU—EE, A—PFRAEPHFAEEEE—M. TREBERTUYMISIESH. </p>
</blockquote>
<hr>
<p>BESEHENNFHENTFEGSK? 2 ASCl 5, RERE 26 N F&? RIEFRER,
MRIRERSETREARR. </p>
<p>TEHEAILL ASCI 501, ASCI BRI LAER— N FokErR, BXEUEEE S 0~127
BE 128 N, <br> BEERRA, EX— 128 A/ char BUE4H, #HBWRLA 0,. &EH
FFERFPRIFRT, BFAIENAEETZFRIINAE S 1 WRRZFHAEFHFRFEHNT, iz
EEPE’\JE‘?*—HKED’E—E’\J; BNBEEPZFANNAES 1. TRBH—IEFFEH, MBERIAFRTES
=(\0). </p>
<pre><code class="language-c highlight-chroma" > <span class="highlight-kt">int</span>
span class="highlight-nf">check unig</span> <span class="highlight-p">(</span><span cla
s="highlight-kt">char</span> <span class="highlight-o">*</span> <span class="highlight-
">str</span><span class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-kt">char</span> <span class="highlight-n">flag</span> <span cl
ss="highlight-p">[</span><span class="highlight-mi">128</span> <span class="highlight-
">];</span>
<span class="highlight-kt">int</span> <span class="highlight-n">ret</span> <span clas
="highlight-0">=</span> <span class="highlight-mi">0</span> <span class="highlight-p" >
</span>
<span class="highlight-n">memset</span><span class="highlight-p">(</span><span cla
s="highlight-n">flag</span><span class="highlight-p">,</span> <span class="highlight-mi
>0</span><span class="highlight-p">,</span> <span class="highlight-k">sizeof</span> <
pan class="highlight-p">(</span> <span class="highlight-n">flag</span> <span class="highl
ght-p">));</span>
<span class="highlight-k">while</span> <span class="highlight-p">(</span><span clas
="highlight-0">*</span><span class="highlight-n">str</span> <span class="highlight-o">
+!=</span> <span class="highlight-sc">"\0'</span> <span class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-k">if</span> <span class="highlight-p">(</span> <span class=
highlight-n">flag</span><span class="highlight-p">[</span><span class="highlight-0">*<
span> <span class="highlight-n">str</span> <span class="highlight-p">1)</span>
<span class="highlight-p">{</span>
<span class="highlight-n">ret</span> <span class="highlight-0">=</span> <span c
ass="highlight-mi">1</span> <span class="highlight-p">;</span> <span class="highlight-c
">/BEE
</span><span class="highlight-c1"> </span> <span class="highlight-k">break</spa
> <span class="highlight-p">;</span>
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<span class="highlight-p">}</span>
<span class="highlight-k">else</span>
<span class="highlight-p">{</span>
<span class="highlight-n">flag</span> <span class="highlight-p">[</span> <span cl
ss="highlight-0">*</span><span class="highlight-n">str</span> <span class="highlight-p"
1</span> <span class="highlight-0">=</span> <span class="highlight-mi">1</span> <span
class="highlight-p">;</span>
<span class="highlight-p">}</span>
<span class="highlight-p">}</span>
<span class="highlight-k">return</span> <span class="highlight-n">ret</span><span cl
ss="highlight-p">;</span>
<span class="highlight-p">}</span>
</code></pre>
<p>ZEERAISREN O(n), BixPirdEBERT 128Byte, BfIAATIAH—LZ R =E SR
[FEA0 1/8, BN ASCI ABFRFRIHIMNRBER— bit iZkiEER. BENT: </p>
<pre><code class="language-c highlight-chroma"> <span class="highlight-kt">int</span>
span class="highlight-nf">check_unig2</span> <span class="highlight-p">(</span> <span cl
ss="highlight-kt">char</span> <span class="highlight-o">*</span><span class="highlight
n">str</span><span class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-kt">int</span> <span class="highlight-n">flag</span> <span clas
="highlight-p">[</span><span class="highlight-mi">4</span> <span class="highlight-p">]
</span>
<span class="highlight-kt">int</span> <span class="highlight-n">ret</span> <span clas
="highlight-0">=</span> <span class="highlight-mi">0</span><span class="highlight-p" >
</span>
<span class="highlight-n">memset</span> <span class="highlight-p">(</span><span cla
s="highlight-n">flag</span> <span class="highlight-p">,</span> <span class="highlight-mi
>0</span><span class="highlight-p">,</span> <span class="highlight-k" >sizeof</span> <
pan class="highlight-p">(</span><span class="highlight-n">flag</span><span class="highl
ght-p">));</span>
<span class="highlight-k">while</span> <span class="highlight-p">(</span><span clas
="highlight-0">*</span> <span class="highlight-n">str</span> <span class="highlight-o" >
+</span> <span class="highlight-o">!=</span> <span class="highlight-sc">"\0"'</span><s
an class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-k">if</span> <span class="highlight-p">(</span> <span class=
highlight-n">flag</span><span class="highlight-p">[</span><span class="highlight-0">*<
span> <span class="highlight-n">str</span> <span class="highlight-o">/</span><span clas
="highlight-mi">32</span><span class="highlight-p">]</span> <span class="highlight-o"
&amp;</span> <span class="highlight-mi">1</span><span class="highlight-o">&lt;&lt;</s
an><span class="highlight-p">(</span><span class="highlight-0">*</span> <span class="h
ghlight-n">str</span> <span class="highlight-o">%</span> <span class="highlight-mi">32
/span><span class="highlight-p">))</span>
<span class="highlight-p">{</span>
<span class="highlight-n">ret</span> <span class="highlight-0">=</span> <span c
ass="highlight-mi">1</span> <span class="highlight-p">;</span> <span class="highlight-c
">/[BEE
</span><span class="highlight-c1"> </span> <span class="highlight-k">break</spa
><span class="highlight-p">;</span>
<span class="highlight-p">}</span>
<span class="highlight-k">else</span>
<span class="highlight-p">{</span>
<span class="highlight-n">flag</span> <span class="highlight-p">[</span> <span cl
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ss="highlight-o0">*</span><span class="highlight-n">str</span> <span class="highlight-o
>/</span> <span class="highlight-mi">32</span> <span class="highlight-p">]</span> <sp
n class="highlight-o0">|=</span> <span class="highlight-mi">1</span> <span class="highli
ht-o">&lIt;&lt;</span> <span class="highlight-p">(</span><span class="highlight-o0">*</s
an><span class="highlight-n">str</span> <span class="highlight-0">%</span> <span clas
="highlight-mi">32</span> <span class="highlight-p">);</span>
<span class="highlight-p">}</span>
<span class="highlight-p">}</span>
<span class="highlight-k">return</span> <span class="highlight-n">ret</span><span cl
ss="highlight-p">;</span>
<span class="highlight-p">}</span>
</code> </pre>
<p>WirACH3aNT: </p>
<pre><code class="language-c highlight-chroma" > <span class="highlight-kt">int</span>
span class="highlight-nf">main</span> <span class="highlight-p">(</span> <span class="h
ghlight-kt">void </span> <span class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-kt">char</span> <span class="highlight-n">buf</span><span cla
s="highlight-p">[</span> <span class="highlight-mi">100</span> <span class="highlight-p
>];,</span>
<span class="highlight-k">while</span> <span class="highlight-p">(</span><span clas
="highlight-mi">1</span><span class="highlight-p">)</span>
<span class="highlight-p">{</span>
<span class="highlight-n">memset</span> <span class="highlight-p">(</span><span
lass="highlight-n">buf</span><span class="highlight-p">,</span> <span class="highlight
mi">0</span> <span class="highlight-p">,</span> <span class="highlight-k">sizeof</span
<span class="highlight-p">(</span> <span class="highlight-n">buf</span> <span class="hi
hlight-p">));</span>
<span class="highlight-n">printf</span> <span class="highlight-p">(</span><span cla
s="highlight-s">"please input string:" </span><span class="highlight-p">); </span>
<span class="highlight-n">scanf</span> <span class="highlight-p">(</span><span cla
s="highlight-s">"%s" </span><span class="highlight-p">,</span> <span class="highlight-n
>buf</span><span class="highlight-p">);</span>
<span class="highlight-k">if</span> <span class="highlight-p">(</span> <span class=
highlight-n">check uniq2</span> <span class="highlight-p">(</span><span class="highlig
t-n">buf</span><span class="highlight-p">))</span>
<span class="highlight-p">{</span>
<span class="highlight-n">printf</span> <span class="highlight-p">(</span><span
lass="highlight-s">"not uniq !</span><span class="highlight-se">\n</span><span class="h
ghlight-s">"</span><span class="highlight-p">);</span>
<span class="highlight-p">}</span>
<span class="highlight-k">else</span>
<span class="highlight-p">{</span>
<span class="highlight-n">printf</span> <span class="highlight-p">(</span><span
lass="highlight-s">"is uniq !</span><span class="highlight-se">\n</span> <span class="hi
hlight-s">"</span> <span class="highlight-p">);</span>
<span class="highlight-p">}</span>
<span class="highlight-p">}</span>
<span class="highlight-k">return</span> <span class="highlight-mi">0</span> <span cl
ss="highlight-p">;</span>
<span class="highlight-p">}</span>
</code> </pre>
<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>
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<!-- BRIRPCIGFAER-FBx -->
<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>
<script>

(adsbygoogle = window.adsbygoogle || [1).push({});
</script>
<p>BITER: </p>
<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="i1z17455" data-src="h
tps://ohjmh3hga.qnssl.com/ee9cc3a6fa864c818c43d8405b50906f.gif-origin”"></p>
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